20214 18 4L

-
[
& W
5 o
B o
e
S
o fl 5
) = x
i
D z
70 N5
|.-AIL — “_rO
= o ol m_ﬂr_
[w) TH 0 _w__u
L - — -
m T g 5 =
Ul PEE-3 = 3,
< K- oh S
A0 = - _ ° =
= g 3 I ow
o o S &
el H o =
ul B T
= KHO g =
<l ol Kin| r
Ki- ™ Ko = S)
3 ul O i [
1=} R0~ ol 33 4
o Ko = ﬁ__ o o 2
= — [} N
S H_I _”__.._ < _._.__E -
~ NH ._OL
Ky 3 ®l = o
I S w3
a RO F R o
N o = 1| N
— OH =3
S S o |1
m__m_ i <F o3
m_ &l <
o b
= i oF
B + T oa
- R Mo
ke Ol e
>
I o B
3 o
o O g
El =

ol
[
=
A
e

91x8="728

B!

91x9=819

666

=169
74%9

132

999:1,23 — 1,66 —+1,6,8 — 2. 7,8

82=64

— 34,6,7T—+6,6,6 —> 999

, Ol S B3I 9997} EILt.



81 x6=486 54 x9=486
168 —+4,6,8 < 456
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FH32 7HE B2 AT 2ttt +E S0, O B2 ofaie] a0 A EAIS 068/0892 & o5 THAITt

608, 630, 806, 809, 860, 890, 908, 980
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=1 ol iYLt

123169 166 136 139 127 289 268 368 389 278 467 479 666 999
13A2=169 9->6 6x6=36 6->9 3x9=27 17/2=289 9->6 6/2=36 6->9 3x9=27
8/\2=64 6->9 74x9=666 6->9

f:377
0[: 10{A 9997tX|2| =X & 2HE += §l= == 25 99710|Ct.
=59 2[AEE Of2fet ZLf.
377, 500, 505, 506, 508, 509, 550, 555, 556, 557,
559, 560, 565, 575, 577, 578, 580, 587, 590, 595,
605, 606, 609, 650, 655, 660, 668, 677, 678, 686,
687, 688, 689, 690, 698, 700, 707, 708, 737, 755,
757,758, 767,768, 770,773,775,776, 777,778,
779, 780, 785, 786, 787, 788, 789, 797, 798, 800,
805, 807, 808, 850, 857, 866, 867, 868, 869, 870,
875, 876, 877, 878, 879, 880, 886, 887, 888, 889,
896, 897, 898, 899, 905, 906, 909, 950, 955, 960,

968, 977, 978, 986, 987, 988, 989, 990, 998 (& 997H)

IJ rlHn o>|

(ZRIYOR THehA S2ABELIY
SH3. 222 JHE 0| Mo} SH= 4
608, 680, 806, 809, 860, 890, 908, 980 (2 F 8H HR)

S| 3014 X2 Xf2|2| #3t 10| Akt 0lof LIZA| 512 O B +8 M4 4 9

8EHA MHX|= X 39 Eat S LRt
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0HA)
>>1,2,3,12,13, 21, 23, 31, 32, 123, 132, 213, 231, 312, 321 (157H)

1EHA]) 1342 =169
>>6,9, 16,19, 61, 66, 69, 91, 96, 99, 166, 169, 196, 199, 616, 619, 661, 691, 916, 919, 961, 991 (227H)

2¢HA) 61*%6 = 366
>> 36, 39, 63, 93, 366, 369, 396, 399, 636, 639, 663, 639, 936, 939, 963, 993 (167H)

3¢HA) 63*%6 = 378
>>7,8,37,38, 73,78, 83, 87,378, 387, 738, 783, 837, 873 (147H)

4ATHA|) 3%8 = 24 (72 LCH2)
>> 4, 24,27, 42,47, 72, 74, 247, 274, 427, 472, 724, 742 (137})

5CtA|) 4%7 =28 (2= A 2)
>> 22,28, 82, 228, 282, 822 (67H)

6THA|) 2812 = 784
>> 48, 78, 84, 478, 487, 748, 784, 847, 874 (974)

7CHA|) 84%7 = 588
>> 5, 58, 85, 88, 588, 858, 885 (77)

8¢tA|) 858 = 680
>> 0, 60, 68, 80, 86, 89, 90, 98, 608, 680, 806, 809, 860, 890, 908, 980 (167H)

9%HA) 60*8 = 480
>> 40, 408, 480, 804, 840 (57H)

10CHA) 4 o HZ2 =2 (8,0 ACHZ)
>> 20, 208, 280, 802, 820 (57H)

11¢HA) 822 = 64 (0 JCHE)
>> 46, 49, 64, 94, 406, 409, 460, 490, 604, 640, 904, 940 (127H)

12EHA|) 90*4 = 360
>> 30, 306, 309, 360, 390, 603, 630, 903, 930 (97H)

13EFA) 90*3 = 270
>> 70, 207, 270, 702, 720 (57H)



1454HA]) 772 = 49 (0 ICH2)
|

>> (F7hlsS 1M1EA 2t SLE)

15EA) 4 H&2 =2 (90 2UZ)
>> 29, 92, 206, 209, 260, 290, 602, 620, 902, 920 (107H)

16%tA|) 922 = 81 (0 JCHE)
>>10, 18, 81, 108, 180, 801, 810 (77H)

17EtA]) 80-1 =79
>> 79,97 (271)

>> (0] & =7} 21 8)
15+22+16+14+13+6+9+7+16+5+5+12+9+5+10+7+2 => & 173749 £

(%

I
St
2
I
rr
fot
ro
K]
n
4%
o>
-
iul



